
CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY (HINGLISH)

GRIGNARD REAGENTS

Exercise

1. What is the major product of the following reaction ? 

A. 

B. 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_z9kZ0w31qCCa


C. 

D. 

Answer: B

Watch Video Solution

2. Find the �nal product(P) of the reaction 

A. 

https://dl.doubtnut.com/l/_z9kZ0w31qCCa
https://dl.doubtnut.com/l/_tWJlq5fsDJrC


B. 

C. 

D. 

Answer: D

Watch Video Solution

3.   

What is the ratio of (x/y) in above problem ?

https://dl.doubtnut.com/l/_tWJlq5fsDJrC
https://dl.doubtnut.com/l/_Pz9uH0GbvJED


A. 

B. 2

C. 

D. 3

Answer: B

Watch Video Solution

1.5

2.5

4. In which of the following reaction  alcohol is obtained as a product ?

A. 

B. 

C. 

D. Both (a) and (b)

Answer: D

2∘

https://dl.doubtnut.com/l/_Pz9uH0GbvJED
https://dl.doubtnut.com/l/_kSo6F4T6nlP5


Watch Video Solution

5. What product would you expect to obtain from Grignard reaction when

an excess of phenylmagnesium bromide reacts with dimethyl carbonate

 ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3OCOOCH3

CH3 −

OH

∣

C
∣

P h

− Ph

CH3 −

OH

∣

CH − Ph

Ph −

OH

∣

C
∣

P h

− Ph

CH3 −

O

∣ ∣

C − Ph

https://dl.doubtnut.com/l/_kSo6F4T6nlP5
https://dl.doubtnut.com/l/_k0R9MW2CFule


6. In which of the following reactions product formed is same ? 

A. (i) and (ii)

B. (ii) and (iii)

C. (i) and (iii)

D. (i), (ii) and (iii)

Answer: D

Watch Video Solution

7. Which of the following reaction sequences would be the best for

synthesis of 2-pentanone ?

https://dl.doubtnut.com/l/_rEYbnYW2fJm8
https://dl.doubtnut.com/l/_vyztyWJxi5YB


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 − CH2 −

O

∣ ∣

C − H
CH3MhI
−−−−→

Et2O

H3O⊕

−−−→

CH3 − CH2 − CH2 − C ≡ N
CH3MgI
−−−−→

Et2O

H3O⊕

−−−→

CH3 − CH2
( Propanal )

−

O

∣ ∣

C − H
CH3MgI
−−−−→

Et2O

H3O⊕

−−−→

8.   

Number of moles (x) of Grignard reagent consumed in the above reaction

is :

A. 2

B. 3

https://dl.doubtnut.com/l/_vyztyWJxi5YB
https://dl.doubtnut.com/l/_uL3yX9m5jAEA


C. 4

D. 5

Answer: C

Watch Video Solution

9.   

Which of the following combinations can not be used to prepare alcohol

given above?

A. 

B. 

C. 

D. 

Answer: D

Ph −

OH

∣

C
∣

CH2 − CH3

− CH3

PhMgBr + 2 − butanone −−−→
NH4Cl

EtMgBr + Ph −

O

∣ ∣

C − CH3 −−−→
NH4Cl

CH3MgBr + Ph −

O

∣ ∣

C − Et −−−→
NH4Cl

EtMgBr + Ph −

O

∣ ∣

C − CH2 − CH3 −−−→
NH4Cl

https://dl.doubtnut.com/l/_uL3yX9m5jAEA
https://dl.doubtnut.com/l/_AwjaYazd1aNo


Watch Video Solution

10. , Process (A) is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Et − O −

O

∣ ∣

C − O − Et
( 1 ) CH3MgBr ( excess )
−−−−−−−−−−−−−→

( 2 ) H3O⊕
(A)

CH3 −

O

∣ ∣

C − O − Et

CH3 −

O

∣ ∣

C − CH3

CH3 −

OH

∣

C
∣

CH3

− CH3

CH3 − CH2 − CH3

https://dl.doubtnut.com/l/_AwjaYazd1aNo
https://dl.doubtnut.com/l/_jjL4YAGJSTfR


11. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph −

O

∣ ∣

C − Ph

Ph −

OH

∣

C
∣

P h

− Ph

https://dl.doubtnut.com/l/_leRDh00l8FQa


12. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ph −

OH

∣

C
∣

P h

− Ph

Ph −

OH

∣

C
∣

CH3

− CH3

Ph −

O

∣ ∣

C − CH3

Ph −

O

∣ ∣

C − Ph

13. Point out the incorrect synthesis:

A. 

https://dl.doubtnut.com/l/_FhXz0GoFi6FT
https://dl.doubtnut.com/l/_khHvMPN7Nh4w


B. 

C. 

D. 

Answer: B

Watch Video Solution

PhMgBr +
( 1 ) HCHO

−−−−−−→
( 2 ) H +

Ph − CH2 − OH

14.   

  

Product (B) and (D) in the above reaction are :

A. 

B. 

C. 

CH3 −

O

∣ ∣

C − O − H
NaH

14

CO3

−−−−−→ (A)
gas

( i ) P hMgBr

−−−−−−−→
( ii ) H3O⊕

(B)

CH3 −

O

∣ ∣

S
∣ ∣

O

− O − H
NaH

14

CO3
−−−−−→ (C)

gas

( i ) P hMgBr

−−−−−−−→
( ii ) H3O⊕

(D)

Ph −

O

∣ ∣

C − O − H, Ph −

O

∣ ∣

S
∣ ∣

O

− O − H

Ph −

O

∣ ∣

C
14

− O − H, Ph −

O

∣ ∣

S − O − H

Ph −

O

∣ ∣

C
14

− O − H, Ph −

O

∣ ∣

C
14

− O − H

https://dl.doubtnut.com/l/_khHvMPN7Nh4w
https://dl.doubtnut.com/l/_9XRyld0KM72a


D. 

Answer: C

Watch Video Solution

Ph −

O

∣ ∣

C − OH, Ph −

O

∣ ∣

S − O − H

15. Complete the following reaction

A. 

B. 

https://dl.doubtnut.com/l/_9XRyld0KM72a
https://dl.doubtnut.com/l/_Gsl4t7foaGmh


C. 

D. 

Answer: B

Watch Video Solution

16.   

Comment on optical activity of the products. They are :

A. racemic mixture

B. diastereomers

https://dl.doubtnut.com/l/_Gsl4t7foaGmh
https://dl.doubtnut.com/l/_Q5nR1pfJlvGC


C. meso forms

D. optically inactive due to absence of chiral centre

Answer: B

Watch Video Solution

17. In which of the following reaction an acid-base reaction takes place ?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Q5nR1pfJlvGC
https://dl.doubtnut.com/l/_DBBTIIQtGZtO


18. , Product

(B) in this reaction is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oVY9u8wgHwph


19. All of the following compounds react with ethylmagnesium bromide.

Alcohols are formed from three of the compounds. Which one does not

give an alcohol ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ph − O −

O

∣ ∣

C − O − H

20. A student was carrying out a Grignard reaction between PhMgBr and

ethyl benzoate. She ran out of anhydrous ether just after the Grignard

https://dl.doubtnut.com/l/_hrotmDmcV0y9
https://dl.doubtnut.com/l/_6as5ndtuYjyM


reagent was made. Which of the following solvents can still be used to

dissolve the ethyl benzoate for its reaction with already formed PhMgBr ?

A. acetone

B. ethyl acetone

C. absolute alcohol

D. benzene

Answer: D

Watch Video Solution

21.   

Number of equivalents of Grignard reagent (x) used in reaction (1) is :

A. 3 equivalent

B. 4 equivalent

https://dl.doubtnut.com/l/_6as5ndtuYjyM
https://dl.doubtnut.com/l/_pjSi15zTapp0


C. 5 equivalent

D. 6 equivalent

Answer: C

Watch Video Solution

22.   

The given product can not be obtained in the above reaction. Identify the

correct product obtained.

A. 

https://dl.doubtnut.com/l/_pjSi15zTapp0
https://dl.doubtnut.com/l/_G7f8qVblJmK6


B. 

C. 

D. 

Answer: B

Watch Video Solution

23. Which of the following gives two isomers of  alcohol, when treated

with phenyl magnesium bromide ?

3∘

https://dl.doubtnut.com/l/_G7f8qVblJmK6
https://dl.doubtnut.com/l/_SGKrX68PhjEB


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SGKrX68PhjEB
https://dl.doubtnut.com/l/_U2p6KMAY6WLT


24. 

A. 

B. 

C. Both (a) and (b)

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_U2p6KMAY6WLT


25.  , The

product of the reaction is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HSO2 − CH2 − CH2 − CH2 − CH2 − R

H − SO2(CH2)
3

− R

H − SO2(CH)
3

− R

26. When carboxylic acid reacts with organolithium reagentss to give

ketones , side sometimes occur. For example, 

  HOCH2CH2

CH3

∣

CHCH2CH2

O

∣ ∣

COH
( x ) CH3Li

−−−−−−−−−→
tetrahydro furan

NH4Cl
−−−→

H2

https://dl.doubtnut.com/l/_8ngjZAB0RCnl
https://dl.doubtnut.com/l/_4aNphpz5FCVG


  

Value of (x) in above reaction is :

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

HOCH2CH2
Compound A63 %

CH3

∣

CHCH2CH2 −

O

∣ ∣

C − CH3 + compound(B)
37 %

27. Which of the following alcohol can not be prepared by the reaction of

acid chloride with excess of Grignard reagent followed by acidi�cation ?

A. 

https://dl.doubtnut.com/l/_4aNphpz5FCVG
https://dl.doubtnut.com/l/_XR6LkWRKHs0f


B. 

C. 

D. 

Answer: D

Watch Video Solution

28.   

Product (B) of the above reaction is :

A. 

https://dl.doubtnut.com/l/_XR6LkWRKHs0f
https://dl.doubtnut.com/l/_7layjbRKIaWX


B. 

C. 

D. 

Answer: D

Watch Video Solution

29. The reaction of elemental sulphur with Grignard reagent followed by

acidi�cation leads to the formation of

A. mercaptan

B. sulphoxide

C. thioether

D. sulphonic acid

https://dl.doubtnut.com/l/_7layjbRKIaWX
https://dl.doubtnut.com/l/_ro6BMAipOFMy


Answer: A

Watch Video Solution

30.  , Product

of the reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HO − (CH2)3 −

O

∣ ∣

C − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_ro6BMAipOFMy
https://dl.doubtnut.com/l/_0TXO1UV9KYgg


31.   

Number of moles of  consumed in above reaction is :

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

CH3MgBr

https://dl.doubtnut.com/l/_0TXO1UV9KYgg
https://dl.doubtnut.com/l/_BlTjBzU3ybvP


32. End product of the given reaction is: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ApbBLSq5npyT


33. Which of the following compounds is not suitable solvent for

Grignard reagent?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − O − CH2 − CH2 − O − CH3

https://dl.doubtnut.com/l/_7ewa3P2FplIA


34. , Predict

major product of the reaction :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

35. Which of the following reaction sequences would be the best for

synthesis of t-butyl alcohol ?

https://dl.doubtnut.com/l/_Z6lwmyPXOANQ
https://dl.doubtnut.com/l/_da6FXsWih04X


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CH2CH2MgBr
CO2

−−→
Et2O

H3O⊕

−−−→

CH3MgBr + CH3 −

O

∣ ∣

C − CH3

Et2O
−−→

H3O⊕

−−−→

CH3CH2MgBr + CH3 −

O

∣ ∣

C − H
Et2O
−−→

H3O⊕

−−−→

36. What is the major product of the following reaction ? 

A. 

B. 

C. 

CH3 − C ≡ N
CH3MgI
−−−−→

Et2O

H3O⊕

−−−→

CH3 − CH2 − NH − CH3

CH3 −

O

∣ ∣

C − CH3

https://dl.doubtnut.com/l/_da6FXsWih04X
https://dl.doubtnut.com/l/_BzreTEFAUICN


D. 

Answer: C

Watch Video Solution

CH3 − CH2 −

O

∣ ∣

C − OH

37. , Product

obtained in this reaction are :

A. diastereomers

B. racemic

C. pure enantiomer

D. meso

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BzreTEFAUICN
https://dl.doubtnut.com/l/_gcLsaExdifeu


38. , compound (A) will

be :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3CO2Et + (CH2)5(MgBr)2 −−−−→
( 2 ) H +

C7H14O
( A )

CH3 −

O

∣ ∣

C − (CH2)4 − CH3

https://dl.doubtnut.com/l/_gcLsaExdifeu
https://dl.doubtnut.com/l/_ORVIhLZlOGSQ
https://dl.doubtnut.com/l/_ZUZApwAKBYRP


39. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ZUZApwAKBYRP


40. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ZUZApwAKBYRP
https://dl.doubtnut.com/l/_lZExDY8PTKqY


41. , Product of

this reaction is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yL7T07VOv9l2


42. Ethyl acetoacetate when reacts with one mole methyl magnesium

iodide then product of reaction will be :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

OΘ Mg ⊕ Br

∣

C
∣

CH3

− CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C −
Θ

CH
⊕

MgBr

− CO2Et

CH −
2

O

∣ ∣

C − CH2 − CO2Et

43. , Product A is:

A. 

CH3MgBr
( excess )

+ Et − O −

O

∣ ∣

C − O − Et −−−−→
( 2 ) H ⊕

(A)

https://dl.doubtnut.com/l/_u7bS9KO4DHSU
https://dl.doubtnut.com/l/_3ldTOuJQHmG7


B. 

C. 

D. 

Answer: B

Watch Video Solution

44. For the sequence of reactions,  tert-Pentyl

alcohol. The compound A in the sequence is :

A. 2-Butanone

B. Acetaldehyde

C. Acetone

A
C2H5MgI

−−−−−→
ether

B
H2O / H +

−−−−−→

https://dl.doubtnut.com/l/_3ldTOuJQHmG7
https://dl.doubtnut.com/l/_Js4zm36Kc4by


D. Propanal

Answer: C

Watch Video Solution

45. 

Same product (A) will form in both reactions. A is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PhMgBr + CH3 − CN −−−→
H3O⊕

(A)Ph −

O

∣ ∣

C − O − H
( 1 ) excessCH3 − Li

−−−−−−−−−−−→
( 2 ) H3O

(A)

Ph −

OH

∣

C
∣

CH3

− CH3

Ph − CHO

Ph −

O

∣ ∣

C − CH3

Ph − CH2 − CO2H

https://dl.doubtnut.com/l/_Js4zm36Kc4by
https://dl.doubtnut.com/l/_G4T2AQgAObmx


46. Which of the following Grignard reagent can be prepared ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Br − Mg − CH2 − CH2 − CH2 − O − H

Br − Mg − CH2 − CH2 − SH

BrMg − CH2 − CH2 − NH2

BrMG − CH2 − CH2 − N
∣

CH3

− CH3

47. In the reaction sequence : 

A. 

https://dl.doubtnut.com/l/_G4T2AQgAObmx
https://dl.doubtnut.com/l/_LDpZ0zd0Cwa1
https://dl.doubtnut.com/l/_1aJZ8iFvgIns


B. 

C. 

D. 

Answer: B

Watch Video Solution

48.  (alcohol) can also be obtained by

:

A. 

B. 

(C2H5O)2CO
CH3MgBr ( excess )
−−−−−−−−−−−→

H3O+
A. A

CH3CH2CHO
CH3MgBr ( 2mol )
−−−−−−−−−−→

H3O+

CH3

O

∣ ∣

COC2H5

CH3MgBr ( 2mol )
−−−−−−−−−−→

H3O+

https://dl.doubtnut.com/l/_1aJZ8iFvgIns
https://dl.doubtnut.com/l/_4THqvDgEJIl0


C. 

D. as in (b) and (c)

Answer: D

Watch Video Solution

CH3

O

∣ ∣

CCH3

CH3MgBr ( 1mol )
−−−−−−−−−−→

H3O+

49. The principal product of the reaction between methyl butanoate and

2 moles of  after hydrolysis is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3MgBr

C3H7COCH3

C3H7C(OH)CH3)2

C3H7CHOHCH3

C3H7COCH(CH3)2

https://dl.doubtnut.com/l/_4THqvDgEJIl0
https://dl.doubtnut.com/l/_3TC2wETZBy2g
https://dl.doubtnut.com/l/_RowIR24ajKHq


50. Which of the following compounds will form hydrocarbon on reaction

with Grignard reagent ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2OH

CH3CHO

CH3COCH3

CH3CO2CH3

51. What is the product (B) of the following reaction sequence ? 

https://dl.doubtnut.com/l/_RowIR24ajKHq
https://dl.doubtnut.com/l/_yBXXqHBU8jap


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

52. Which, if any, of the following pairs of reagents could be used to

prepare 2-phenyl-2-butanol?

https://dl.doubtnut.com/l/_yBXXqHBU8jap
https://dl.doubtnut.com/l/_1cwpnFmlvCtz


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH2MgBr + Ph −

O

∣ ∣

C − CH3

CH3CH2MgBr + C6H5CH2

O

∣ ∣

CH

CH3MgI + C6H5CH2

O

∣ ∣

CCH3

C6H5MgCl + CH3

O

∣ ∣

CCH2CH2CH3

53. What is the product of the following reaction ? 

A. 

B. 

HO − CH
∣

CH3

CH2CH2CH2CH
∣

CH3

− OH

CH3OCH2CH2CH2CH2CH
∣

OH

CH3

https://dl.doubtnut.com/l/_1cwpnFmlvCtz
https://dl.doubtnut.com/l/_qhxRtEsNvG2E


C. 

D. 

Answer: C

Watch Video Solution

HOCH2CH2CH2CH2

CH3

∣

C
∣

CH3

− OH

HOCH2CH2CH2CH2CH
∣

CH3

OCH3

54.  , Product

(B) is :

A. 

B. 

C. 

D. 

Ph − C ≡ C − CH2 − CH2 − CH2 − OH

Ph − C ≡ C − CH2 − CH2 − OH

Ph − CH2 − C ≡ C − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_qhxRtEsNvG2E
https://dl.doubtnut.com/l/_CgXeGnQIVNud


Answer: B

Watch Video Solution

55. What sequence of steps represents the best best synthesis of 4-

heptanol  ?

A.  (2 moles) + formaldehyde  in

diethyl ether followed by 

B.  butanol  in

diethyl ether followed by 

C.  acetone  in diethyl

ether followed by 

D.  formaldehyde  in

diethyl ether followed by 

Answer: B

h id l i

(CH3CH2CH2)2CHOH

CH3CH2CH2MgBr (H2C = O)

H3O +

CH3CH2CH2MgBr + (CH3CH2CH2CH = O)

H3O +

CH3CH2CH2CH2MgBr + [(CH3)2C = O]

H3O +

(CH3CH2CH2)2CHMgBr + (H2C = O)

H3O +

https://dl.doubtnut.com/l/_CgXeGnQIVNud
https://dl.doubtnut.com/l/_NKr16PzlP7NT


Watch Video Solution

56. Complete the following reaction

A. diastereomers

B. racemic

C. single stereoisomer

D. meso

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NKr16PzlP7NT
https://dl.doubtnut.com/l/_lARL0H8qjNFM


57.   

What is the value of x in the above reaction ?

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

          CH2 − OH

∣

           CH − OH
∣

           CH2 − SH

+ CH3MgBr
(Execess)

→ xCH4

58.  of an organic compound (A),  reacts with x

mole of  to liberate 224 mL of a gas at STP. With excess of ,

(A) gives pentan-1-ol. The correct structure of (A) is :

A. 

0.40g (M. F . − C5H8O)

CH3MgBr H2

CH3 − C ≡ C − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_KHlLB2bo2e3q
https://dl.doubtnut.com/l/_bsVWGVmuUjPX


B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH2 − C ≡ C − CH2 − OH

H − C ≡ C − CH2 − CH2 − CH2 − OH

H − C ≡ C − CH2 − CH
∣

OH

− CH3

59.   

End product (X) of the above reaction is :

A. 

B. 

C. 

D. 

CH3 − CH = CH3
Br2

−−−−→
hv

( low conc.)

Mg
−−−−−→
Dry ether

CH3 −

O

∣ ∣

C − CH3

−−−−−−−−→
NH4Cl

H +

−−→
Δ

(X)
( major )

CH2 = CH − CH2 −

CH2

∣ ∣

C − CH3

H2C = CH − CH = C
∣

CH3

− CH3

H2C = CH − CH2 =

OH

∣

C
∣

CH3

− CH3

H2C = CH − CH2 − CH − CH2
∣

CH3

− OH

https://dl.doubtnut.com/l/_bsVWGVmuUjPX
https://dl.doubtnut.com/l/_ZJFgtwVZyM6V


Answer: B

Watch Video Solution

60. Complete the following reaction

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − O − CH2 − CH2 − CH3

H2C = CH − CH2 − O − CH3

https://dl.doubtnut.com/l/_ZJFgtwVZyM6V
https://dl.doubtnut.com/l/_FFe4ebR8hpwp


61. Compound A was treated with a large excess of . The

resulting products was exposed to /pyridine to give compound B,

as one of many products: 

  

Which of the following compounds cab be A ?

A. 

B. 

CH3MgBr

POCl3

https://dl.doubtnut.com/l/_XObmmytVYlpJ


C. 

D. 

Answer: D

Watch Video Solution

62. Identify product Z in the following reaction sequence: 

A. 

B. 

C. 

D. 

H2C = CHCH2Br
NaCN
−−−→ Y

1 .C6H5MgBr ,diethylether
−−−−−−−−−−−−−−−→

2 .H3O+
Z

H2C = CHCH2

O

∣ ∣

CC6H5

H2C = CHCH2NH

O

∣ ∣

CC6H5

H2C = CHCH2CHC6H5

H2C = CHCH2

NH2

∣

CHC6H5

https://dl.doubtnut.com/l/_XObmmytVYlpJ
https://dl.doubtnut.com/l/_f0fsBvcuaW0y


Answer: A

Watch Video Solution

63.   

(Consider all steps and intermediate) correct statement is :

A. Nucleophilic addition

B. Nucleophilic substitution reaction

C. Product obtained is chiral

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_f0fsBvcuaW0y
https://dl.doubtnut.com/l/_BzqhJGtwxHHT


64. What will be the �nal major product ? 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_NUp1VKMrpWir


D. 

Answer: C

Watch Video Solution

65. Give the expected product of the following reaction. 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_NUp1VKMrpWir
https://dl.doubtnut.com/l/_08C7ZdKNKlfx


D. 

Answer: D

Watch Video Solution

66. Grignard reagent is usually prepared by 

  

  

Grignard reagent acts s a strong base. Grignard reagent carry out

nucleoplilic attack in absence of acidic hydrogen. Grignard reagent form

complex with its ether solvent. Complex formation with molecule of ether

is an important factor in the formation and stability of Grignard reagent. 

What is the correct order of reactivity of halides with magnesium ?

A. 

B. 

C. 

R − X + Mg
Et2O
−−→ RMgX     Grignard reagent

Ar − X + Mg
Et2O
−−→ ArMgX    Grignard reagent

R − Cl > R − Br > R − I

R − Br − > R − Cl > R − I

R − I > R − Br > R − Cl

https://dl.doubtnut.com/l/_08C7ZdKNKlfx
https://dl.doubtnut.com/l/_o69yiw33MNkL


D. 

Answer: C

Watch Video Solution

R − I = R − Br = R − Cl

67. Grignard reagent is usually prepared by 

  

  

Grignard reagent acts s a strong base. Grignard reagent carry out

nucleoplilic attack in absence of acidic hydrogen. Grignard reagent form

complex with its ether solvent. Complex formation with molecule of ether

is an important factor in the formation and stability of Grignard reagent. 

Which of the following will undergo acid-base reaction with Grignard

reagent ?

A. 

B. 

C. 

R − X + Mg
Et2O
−−→ RMgX     Grignard reagent

Ar − X + Mg
Et2O
−−→ ArMgX    Grignard reagent

HC ≡ CH

R − OH

R − CO2H

https://dl.doubtnut.com/l/_o69yiw33MNkL
https://dl.doubtnut.com/l/_MHYJtyN314GY


D. All of these

Answer: D

Watch Video Solution

68. Grignard reagent is usually prepared by 

  

  

Grignard reagent acts s a strong base. Grignard reagent carry out

nucleoplilic attack in absence of acidic hydrogen. Grignard reagent form

complex with its ether solvent. Complex formation with molecule of ether

is an important factor in the formation and stability of Grignard reagent. 

Which of the following reactants give primary alcohol as a major product

when reacts with RMgX followed by acidi�cation? 

R − X + Mg
Et2O
−−→ RMgX     Grignard reagent

Ar − X + Mg
Et2O
−−→ ArMgX    Grignard reagent

https://dl.doubtnut.com/l/_MHYJtyN314GY
https://dl.doubtnut.com/l/_XJWxuAo30Byn


A. I, ii, v

B. I, ii, v, vi

C. ii, iv, vi

D. v, vi, iii, vi

Answer: A

Watch Video Solution

69. Grignard reagent is usually prepared by 

  

  

Grignard reagent acts s a strong base. Grignard reagent carry out

nucleoplilic attack in absence of acidic hydrogen. Grignard reagent form

complex with its ether solvent. Complex formation with molecule of ether

is an important factor in the formation and stability of Grignard reagent. 

 alcohol. Value of x is :

R − X + Mg
Et2O
−−→ RMgX     Grignard reagent

Ar − X + Mg
Et2O
−−→ ArMgX    Grignard reagent

Cl −

O

∣ ∣

C − O − Et
( 1 ) xRMgX

−−−−−−−→
( 2 ) NH4Cl

3∘

https://dl.doubtnut.com/l/_XJWxuAo30Byn
https://dl.doubtnut.com/l/_b3KGJkCtrXDk


A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

70. Grignard reagent is usually prepared by 

  

  

Grignard reagent acts s a strong base. Grignard reagent carry out

nucleoplilic attack in absence of acidic hydrogen. Grignard reagent form

complex with its ether solvent. Complex formation with molecule of ether

is an important factor in the formation and stability of Grignard reagent. 

R − X + Mg
Et2O
−−→ RMgX     Grignard reagent

Ar − X + Mg
Et2O
−−→ ArMgX    Grignard reagent

https://dl.doubtnut.com/l/_b3KGJkCtrXDk
https://dl.doubtnut.com/l/_KHXzFCd40856


, Value of x is :

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

H − O − CH2 − CH2 −

O

∣ ∣

C − O − Et
( 1 ) xP hMgBr

−−−−−−−−→
( 2 ) H +

HO − CH2 − CH2 −

O

C
∣

P

71. Grignard reagent is usually prepared by 

  

  

Grignard reagent acts s a strong base. Grignard reagent carry out

nucleoplilic attack in absence of acidic hydrogen. Grignard reagent form

complex with its ether solvent. Complex formation with molecule of ether

R − X + Mg
Et2O
−−→ RMgX     Grignard reagent

Ar − X + Mg
Et2O
−−→ ArMgX    Grignard reagent

https://dl.doubtnut.com/l/_KHXzFCd40856
https://dl.doubtnut.com/l/_VTbqnBCZxGU4


is an important factor in the formation and stability of Grignard reagent. 

Which of the following Grignard reagents is not possible ?

A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

HS − CH2 − CH2 − CH2MgBr

HOCH2 − CH2 − CH2MgBr

NH2 − CH2 − CH2 − CH2MgBr

72. Grignard reagent is usually prepared by 

  

  

Grignard reagent acts s a strong base. Grignard reagent carry out

nucleoplilic attack in absence of acidic hydrogen. Grignard reagent form

complex with its ether solvent. Complex formation with molecule of ether

is an important factor in the formation and stability of Grignard reagent. 

R − X + Mg
Et2O
−−→ RMgX     Grignard reagent

Ar − X + Mg
Et2O
−−→ ArMgX    Grignard reagent

https://dl.doubtnut.com/l/_VTbqnBCZxGU4
https://dl.doubtnut.com/l/_mLWbYj3oNA4j


How many di�erent Grignard reagents when reacts with , give n-

butane as product (excluding stereoisomerism).

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

EtOH

https://dl.doubtnut.com/l/_mLWbYj3oNA4j


73. Match The coloumn I and II. (Matrix) 

Watch Video Solution

74. Match The coloumn I and II. (Matrix) 

  

Match the missing reactant A, B, C, D

https://dl.doubtnut.com/l/_gwVeka5VXE55
https://dl.doubtnut.com/l/_eHgO0VJDh35E


Watch Video Solution

75. Match The coloumn I and II. (Matrix) 

Watch Video Solution

76. When 20g of a compound (A)  reacts with excess

of , 14.6 L of  is obtained at STP. What is structure

formula of (A) ?

A. 

(M. F . = C4H10O4)

CH3MgBr CH4

CH2 − OH

|

(CH − OH)2

|

CH2 − OH

https://dl.doubtnut.com/l/_eHgO0VJDh35E
https://dl.doubtnut.com/l/_RoPrvT5XshCL
https://dl.doubtnut.com/l/_v7mr4bOxjkKX


B. 

C. 

D. Both (a) & (b)

Answer: d

Watch Video Solution

                     CH2OH

                        |

HO − CH2 − C − CH2OH

                        |

                     OH

77.   

How many geometrical isomer of (X) is possible ?

Watch Video Solution

https://dl.doubtnut.com/l/_v7mr4bOxjkKX
https://dl.doubtnut.com/l/_eSBRFYAOKAIp


78. How many isomer of  when reacts with  followed by

acidi�cation to give  alcohol (only consider carbonyl isomers) ?  

(including stereoisomer)

Watch Video Solution

C4H8O CH3MgBr

2∘

79. Total number of RMgX are consumed in the following reaction 

Watch Video Solution

80. How many isomer of  reacts with  to evolve 

gas ? (Excluding stereoisomer)

C4H10O CH3MgBr CH4

https://dl.doubtnut.com/l/_lwZNjgk7jIe7
https://dl.doubtnut.com/l/_3ZC3GPrqgadb
https://dl.doubtnut.com/l/_TLll4n6N9eI1


Watch Video Solution

81. How many carbonyl isomers of  which reacts with PhMgBr to

give racemic mixture ?

Watch Video Solution

C5H10O

82. How many moles of Grignard reagent will consume when it reacts with

following compounds? 

Watch Video Solution

https://dl.doubtnut.com/l/_TLll4n6N9eI1
https://dl.doubtnut.com/l/_Dhqx3i9trf5o
https://dl.doubtnut.com/l/_iNYFDwgUHFAF


Level 1 Q 61 To Q 66

1. Which combination (s) of alkyl bromide and epoxide can be used to

prepare the following product by addition of the Grignard derived from

the alkyl bromide to the epoxide ? 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_O4jyeaJdN2fG


D. 

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_O4jyeaJdN2fG

